EARAROBEEIERT — 2 N— IBISH —F

2012858158 (A) 4E£IR2H

—Eﬁi AXCYAEDNEER C31 ¥5%—#E ‘ [X1&] ™ ‘ [BeEmmE] - | &% (k) 14000 RE
[AE4£] 1% :160,000  ~ 2#&:32,000 ™  37%&:14,000” . 43%&:11,000 " 57 :6,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S s o4 | KBH 1:30.8 2-2-1-1 [38.3| — 3 477 | EBER (&R)
115/ 6 koo agLaH— 56.0 (=) ) k7o agEE ()
LR THAANIN BRN—T b9 ay RS g vEERRRI FY Y a K
N e # 5 | REBH 1:31.4 5-5-4-3 |38.5| — 9 460 | FLFEEA (£R)
2(1]1]SVIHRA 56.0 ® 3) ) A2
RiLF¥ad—A>N— B0 h3I— 5% &g
5 ; 44 | BEEILE 1:31.9 9-9-8-7 | 38.5| — 1 473 | BIBRZ (£R)
3 YIWIRTF L 56.0 2 1/2) (-3) | PH{E=
Z:va7x B4 LYhHII—Y YA 785
- B4 | BAR— 1:32.2 7-6-6-5 |39.5| — 2 460 | FILEEA (£R)
4 g7V /Y74 —X 54.0 (1 1/2) (-2) ﬁ(’ﬁ) 71'\—1;77
LYK YIYRIR BT —X INHISHT 7 — LI
. B4 | DIEEANEE 1:32.2 1-1-1-2 |39.7| — 5 425 | /NREK (£IR)
5 JILF—X 54.0 (N F) (+10) | HEeRIEX
R:Tv Ry b BiALRTr—L BHR&H FHI77—L4
. . REHE :32. -3-3- . - EFH—R (&R
6 T4#LA =2 i 54.0 (12312/27) 384 1400 6 (4_3;.) EHEE
RN K BiaAxTah— +H 18
. t 4 | EBEE 1:32.9 6-7-4-6 | 40.1| — 4 432 | HE=RE (£R)
7 I\%/ '7 I * 56.0 (11/2) (+4) FR#ETh
R:HI5TLIF N B:F —ITXT717Y) JIE 1%k
== s 4 | BUESE 1:33.1 8-8-9-8 [39.5| — 7 402 | RERES (£R)
8 1AXTT 54.0 (11/2) (-3) | 08 SP=Z FETR
L:)h—> BFAIINRAYR =& &
< HEE :33. -10-10- . — FHENX (£R)
9 IHTTTT R o6 o 1(343)9 10-10-10-10| 39.9 8 (4_420) ma;
R:h74=2T B hZ—XXFEUAS N7 7 — L4
S, o, O s 4 | TR 1:34.5 4-4-7-9 |41.5| — | 10 | 450 |PREBEHE (£IR)
10[7 /10| o> >FET— 54.0 @ o | B
L:ALT7A4T7 BIAH44<UT IR
; 4 5 | JIIABABL 1:35.9 11-11-11-12| 40.4 | — 11 435 | =ME (£R)
111719 Drjl Lr—hr 54.0 (7) (+2) %Z’S*U%
LT v TV Rry b BiTAMN Y v — T35 NG
S o . RERAHE : -12-12- — HiE—t (£R)
1|5l 5|3 XAy 4t 10 o 1'(318'7 12-12-12-11{ 41.0 1 (4_332) i i
R:2¥x—F%vT7> BN —XbrDPay Bif RB
@ 1—F—@&BIEf
13=7r= 2,6,8,10,1,12,11,7,4,3,9,5
20—7— 2,6,8,10,1,11,12,7,4,3,9,5
G§a=7r= (2,6),8,(1,12),11,10,4,7,3,9,5
41—+ — 6,2,1,8,11,12,4,7,10,3,5,9
[ RN
B OB 6 400M 714K 1-6 3,640 e & 1-5 8,230M &R 1-4-6 7,450
% B 6 140 4-6 310 | | # H 5-1 25,540/ | | 3&E 6-1-4 63,760
1 980H 1-4 1,890M B E 1-6 10,080
4 140M B H 6-1 13,430H

ABICOVWTRDTEEERROODE. TR LIV,




